C:# Adding and Subtracting with Number Lines Name:

Use the numberlinesto solve each problem. Answers
1) 18+11=
10 20 30 1.
2.
2) 45+25=
50 60 70 3
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3) 29-10=
10 20 30 40 5
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4) 62+7=
60 70 7
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5 76+2=
70 80 9
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6) 38-25=
10 20 30 40
7) 45 -4 =
30 40 50
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C:# Adding and Subtracting with Number Lines Name: Answer Key

Use the numberlinesto solve each problem. Answers
1) 18+11=
10 20 30 1 29
2 70
2) 45+ 25=
50 60 70 3. 19
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3) 29-10=
10 20 30 40 5, 78
6. 13
4) 62+7=
60 70 7 41
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5 76+2=
70 80
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6) 38-25=
10 20 30 40
7) 45 -4 =
30 40 50
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50 60
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